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1. YFENE: 5 n. B (mol)

2\ PRINfES EH: N,=6.02x10%

3. BE/RIRE: fF5 M. B{L ( g/mol)

4, SEERFR: FSV, . B4 (L/ mol)

5. BEAN: n=N/N, fln=m/ MM n=V/V_
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N
: ¢(MgCl,)=0.1mol/L

¢(CIH)=0.2mol/L c(Mg*")=0.1mov/L




1. F1moIlNaOHZE F2LAK P E R ER, EYWANE
K EAZ0.5mol/L"5?

£X: F, ARERRBEROER, RAZEH
PRAR

2. A100mL3mol/L&#NaOHZE & ¥ B i 50mL, N

BB ERTEROYURNERERS ) ?
Z%: 3mol/L (BE—RMREEREGERTRY
HEERRNBER, EWROZTRETE)




1. 1ILNaOHZ & 24 A 0.5moINaOH, N f £/ RRZ %
RO EREHN 0.5mol/L

2. 2mol/L#NaCliE#&1000mL, 2 %X BANaCleymiti=H
2mol

3. L ABARRMYMANERE N ImolI/L, ZERPA

B AN R 698 H3mol, Wi Bk 94k Y 3L
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A
f‘g a = VENEREHH

#i1 F&71.5s% B AR (Na,CO,*10H,0) &ETFK, &
R250mlE %, HHERGYWRAGETKE.
fit: A EHTH, M (Na,CO,10H,0 ) =286g/mol
BH2AXN n=m/M
’.n=71.5g +286g/mol=0.25mol=n ( Na,CO,;*10H,0 )
BA X c=n/V
.o ¢=0.25mol + 0.25L
=1mol/L
Z: WHERNBRAEREHN Imol/L.
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